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(1) A market is in equilibrium and neither the demand nor supply is
perfectly elastic nor perfectly inelastic. The demand for the product
increases. As a result,

(A) consumer surplus increases and producer surplus decreases.

(B) consumer surplus and producer surplus increase and the increase
in consumer surplus is larger than the increase in producer
surplus.

(C) consumer surplus and producer surplus increase and the increase
in consumer surplus is larger than the increase in consumer
surplus.

(D) None of the above answers are necessarily correct.
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(2) In the above figure, if income is $45.00, the price of hamburgers is
$1.50, and the price of gasoline is $1.00, then which is the correct
budget line ?
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(3) In the figure above, the transfer of consumer surplus from consumers
to the producer caused by production under a single-price monopoly
instead of perfect competition is the area of
(A) triangle abe.  (B) rectangle begd.  (C) rectangle befc. (D)
trapezoid beic.

(4) In a dominant firm oligopoly, the dominant firm faces a demand curve
that
(A) is equal to market demand.
(B) is equal to the market demand minus the combined supply of the
smaller firms.
(C) 1s equal to the combined supply of the small competitive firms.
(D) is equal to the combined demand of the small competitive firms.

(5) If the government wishes to raise a fixed amount of tax revenue
through an excise tax, it can do so with a lower deadweight loss by
taxing items

(A) That are more inelastic in demand. (B) That are more
elastic in supply.

(C) That are more elastic in demand. (D) Both answers B and C
are correct.

(6) If the economy is in a recession, the Fed might
(A) reduce interest rates to stimulate the economy. (B) increase
interest rates
(C) cut tax rates to stimulate the economy. (D) increase
government spending.



(7) Suppose that Matt quits a job with the XYZ Corporation in order to
look for more rewarding employment. Matt would be best be
considered as
(A) cyclically unemployed. (B) frictionally unemployed.

(C) included in the economy’s “hidden employment.” (D) still being
employed.
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(8) In the above figure, the inflationary gap when AD, is the aggregate
demand curve equals
(A) LAS minus SAS at a price level of 100.
(B) the difference between 110 and 100.
(C) the difference between $7.5 trillion and $7.0 trillion
(D) AD,

(9) Suppose the economy is initially at full employment. In response to an
increase in money growth, a monetarist claims that
(A) aggregate demand will increase.
(B) The economy moves away form and then back towards full
employment as the economy reacts to changes in money growth .
(C) Money wage rates eventually will rise.
(D) All of the above are TRUE.

(10) New Keynesian economists believe that
(A) money wages are flexible in the short run but prices are sticky.
(B) Money wages are sticky at least in the short run.
(C) Money wages rise when the price level falls.
(D) Money wage are fully flexible in the short run.
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(b)p1=(3.4,1) x1=(5,1,3)
p2=(2,3,2) x1=(3,3,3)

3. WEF Radich X=12pr A & A ddk s CX)=X2-2 7 p 5 o
X 5 #cE -
(@) FHp » = 2% P (perfect competitor) » 3R 35fiT2 ¥ $2 22
(?

% M ik A 78 (monopolist) » A $5672 e & B E 5 i 9

4. R AT (expor) EF T L § < BIR 2 A5 F(GDP) ? HEE L -



